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RACTICE QUESTIONS FOR THE QUIZ FRIDAY!?! POTENTIAL QUESTIONS!! Key to follow

1. Which of the following terms could rot be part of a polynomial expression?
(1) 7%° (3) —3x°
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2. Which of the following trinomials is equivalent to the square of the binomial x -3 ?

(x-3)"= (x-3)(x-3)

2 N

(1) 2x+6 (3) x*~6x-9 - Xl’(é’qu
(2) x> +9 A4) X° —6x+9

3. If f(x):S,x2—2x+7 and g(x):—2x2+6x+3 then f{x)~g(x):
z
Sx -2Xx+4 17 - C“Qxi»%(a‘ﬁf"ﬁ}
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(1) 7x” —8x+4 (3) 3x* +4x+10 Sx —2x+1 + 2Ax*—Gx-3
-2 732 2z
(2) 3x" —-8x+4 (4) 7Tx" +4x+10 Tx K x +4
< 1 ~ ~ - - A3 -
4. Which of the following is the value of 2x” +5x+9 when x =107

(2) 1,290 —(4) 2,059

5. Which of the following is the greatest common factor of the terms 18xy*,30x’y*, and 12x°y* ?

fjci«c o 18, 30,12 1 G

(1) 30x*y* (3) Sxy
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LA2) 6xp (4) 12x%y J J monawaad_
6. Which of the represents a correct factored form of the trinomial 2x* —x—282 Loak 6", e
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@) (2x+4)(x=7) @) (2x+7)(x-4) 2x? sx +Ix 28

ax(x-4) + 2(x~%)
(x-«)(2r+1)



7. Which of the following is nof a correctly factored form of the binomial 24x* —40x ?

A~ = © ,
T (1) 8(33(72 *Sx) ‘F; @4x(6x_10x) w d‘ 5&7717%(1 e
29< % Yox™* o

() 8x(3x-5) (4) 4(6x" ~10x)
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8. If the product of 5x+1 and 2x -3 was placed in ax” +bx+c form, what would the value of a+5 +¢
equal? Show how you arrived at your answer.

2.
3, Ax-3)= [Ox — [ _
(Sk+1)( D) ) Sxk+aAXx -3 0 +-15+ -2
= [OX - /6)(._3

a=to b=-13 =28 EE

9. Write the expression below in simplest form.

N 3x2+8x——1~—2<x2+5x+3)+8(7—x—4x2) D'.S‘h""l’“-a-/ Combing
BX TR = Ax T (O —C +S6 - Yx —32 <%

/S/XQ—-/OX +49

10. Factor the following expression completely.

¢t —6¢ x*+3x—4 v —10v+24

cle) (<01 (v~e)(v-4)

sty G 18-

xt=17x* +16 2x* —9x? 492892

SIS SRR Ceh) (7= 17774 r20)

(=) (k) x=1)(r+1) W Your~
k=4 ) (x4 )( X-1) Know Y S%amgﬂ

chut ! Wﬂ“'f“
. 52(/(2. /Mer)
azb~@’

| S@VWS melfb



Unit 8

Consider the function f (x) = x2 +2x-3

a. Provide a table and sketch the curve on the grid. What is the name of this? Pcw\bo\o;

b. Determine the turning point. (’ L _L{) Write as an ordered pair, and circle it in the table.

c. What is the max/min value of the function? '/q Hint: This is the OUTPUT

~00,-)
d. Over what interval is the function decreasing?( ’ 7 Write as an inequality or interval notation

X< -\ o {X\YA%AS o~ C~;>o)——l)

e. What are the coordinates of the x-intercepts?

. ; Y
( -%0) wg (1,0)
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f. Determine the solution(s) to /____,_,_,__7 % Aale
1S > Ty
2 [ By the e | f
X+ Zx *‘“3 - 12 = ’ \ /
gﬁt}\é W‘? s e \
Explain how you solved the problem. tae ou }Lpu 512 % PR X
| W qek X=5 chol L LT
Hint : You can use the table, or the graph. J \ /
177 ﬂ'im i e 2 . Ci'y’\/ff X= 7? ) 4y
M"/l‘ gr’ccph f, =X +3x-3 Y ’ (o 37
graph 4. = (2 N S
Y ’ it of interxeC hu—
condl  locatc e point of

Theve aw & 20, X = 2 ond Xz =

.. . ‘ Won e !
g. In deternﬂnlng the Qr\]nhmr\(q) to x> +2x-3=6 , Thete (> no S e

In determining the solution (s

st ey 99 : : , 9 . L { ¢ 7
why is it that the “table” technique will not work? U’\‘R’(? qe v ';;{, uk “Hank ‘J ( Vo (5
as o ouk puIN

Find the solution(s) to the nearest tenth.
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